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Introduction
[bookmark: _Ref178064866]RAN2 made the following agreements on CA packet duplication.
	Agreements in RAN2#99 meeting:
-	RLC reports maxNumberofRLC retransmissions are reached to RRC.   
-	For a logical channel restricted to one or multiple SCell(s) (i.e. logical channel configured for duplication) UE reports the failure to the gNB (e.g. SCell-RLF) but no RRC re-establishment happens

Agreement in the RAN2#101 meeting
=>	No further optimization are considered, the UE continues normal operation


According to above agreements, if the AM RLC entity indicates the max. number of retransmission to the RRC layer, the RRC layer reports the max. number of retransmission to the gNB by e.g. SCell-RLF procedure, without initiating the RRC connection re-establishment procedure. After that, the UE continues normal operation. 
In our understanding, the meaning of ‘the UE continues normal operation’ is that the AM RLC entity which has indicated the max. number of retransmission keeps the transmission of the RLC SDUs. This contribution shows our view on this issue.

[bookmark: _Toc462951621][bookmark: _Toc462951630][bookmark: _Toc465023135][bookmark: _Toc465023136][bookmark: _Toc465346829]Discussion
As mentioned in the introduction, the AM RLC entity keeps transmission of the RLC SDUs even after indicating that the RETX_COUNT for an RLC SDU has been reached to the maxRetxThreshold (i.e., RLC failure). In this case, following problem would occur. 


Let’s assume the maxRetxThreshold is configured to 5, and SDUs 1~5 have been transmitted number of times as shown in the figure. When the RLC status report indicating NACK for the SDUs 1~5, the AM RLC entity indicates the RLC failure based on the RETX_COUNT associated with RLC SDU1. The UE RRC will report the RLC failure to the gNB, and the gNB will indicate the UE to re-establish the problematic AM RLC entity.
However, in the meanwhile, the AM RLC entity still has RLC SDUs pending for retransmission, and this amount of data is reflected in the BSR. Then, the gNB will provide UL grant based on the BSR, and the UE will transmit the RLC SDUs 1~5 again.
Note that the gNB cannot differentiate between logical channels belonging to an LCG. Thus, it is difficult for the gNB not to provide UL grant for a problematic logical channel if there are multiple logical channels within an LCG. Moreover, if the problematic logical channel has higher logical channel priority, all the UL grants are allocated to the problematic logical channel.
Considering that the RLC failure is typically caused by the RLC protocol error, it is highly likely that the retransmission of SDUs 1~5 is not successful. It means that the normal data transmission even after the RLC failure may cause waste of radio resource.
Therefore, we would like to ask RAN2 to reconsider the previous agreement “No further optimization are considered, the UE continues normal operation”. We think the AM RLC entity should stop the transmission after the RLC failure. Thus, we propose that when the RLC failure occurs in an AM RLC entity, the UE suspends the AM RLC entity at least for the transmitting side, and does not consider the logical channel in the LCP procedure.
Proposal: When the RLC failure occurs in an AM RLC entity, the UE suspends the AM RLC entity at least for the transmitting side, and does not consider the logical channel in the LCP procedure.

[bookmark: _Toc450908196][bookmark: _In-sequence_SDU_delivery]Proposal
In this contribution, we explains potential problem at the RLC failure, and propose followings:
Proposal: When the RLC failure occurs in an AM RLC entity, the UE suspends the AM RLC entity at least for the transmitting side, and does not consider the logical channel in the LCP procedure.
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